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example (a)

—— = 56 because ? means 56 -1 = 56

28 — x10— 280 — =5 — 56

05 —5x10— 5 —s-5_ 1 — 90

example (b)

1. Complete calculation (a) or (b) or both.

) 17 — x2 —
a — =
0.5 — x2—

17 — x10 — — =5 —

0.0 — x10 — — -5 —

(¢) Which method (a) or (b) is easiest?

2
2. Work out the value of O_(;

dec. x/+ (14) 1(a) 34 1(b) 34 1(c) I think (a) is easier 2) 52 3) 36 4) 28

28 —>x2—>ﬁ

example (a) 5= L Lo, T

= 56 because ? means 56 =~ 1 = 56

28 — x10— 20 — +5— 56

05 —5x10— 5 —s-5_> 1 — 90

example (b)

1. Complete calculation (a) or (b) or both.

17 — x2 —
a —_ =
0 — x2—

17 — x10 — — 5 —

0.5 — x10 — — -5 —

(¢) Which method (a) or (b) is easiest?
2. Work out the value of —f;
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3. Work out the value of

4. Work out the value of

5. Work out the value of

6. Work out the value of

3. Work out the value of

4. Work out the value of

5. Work out the value of

6. Work out the value of
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